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FA 2ZAEN
ZH: PPN KB
chol: GBI CERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 AlZHIZL SO 900,000 100,000 800,000
01 Al&H| 899,000 100,000 799,000
=42 UMY TgAIE 899,000
03 AIZ2THYI 1,000 0 1,000
Osd=z UMIIBEE gAY =4 1,000
HUBBALK A (HAIED MR, T AJ0IS 200,000 1,299,200 1,099,200
3 YA (HEALE)
401 A2 HIRL R 0HbI 200,000 1,299,200 1,099,200
01 Al&HI 200,000 1,298,500 1,008,500
OBiArRIT W AJI0|9IT ZAAI 200,000
HISOHIIXIZ 2ZYASAIR (2SRRI (M 1,300,000 200,000 1,100,000
=)
= 650,000
Al 650,000
401 AIZHIX S0HH 1,300,000 195,000 1,105,000
= 650,000
Al 650,000
01 A28l 1,299,000 195,000 1,104,000
OBISOHIIXZ 2t H oA 1,299,000
== 650,000
Al 649,000
03 A2 CHYI 1,000 0 1,000
OHISOHIIA 2 2HZ3EA5AE =8 1,000
AL 4,237,600 2,809,520 1,428,080
= 50,000
Al 4,187,600
A EgF = 4,700 4,700
201 ger=3| 1,600 1,600
01 AtR2te|H] 1,600 1,600
OZ3Agge: =N 1,600
202 04 3,100 3,100
01 =LHO LI 3,100 3,100
OFANEER A 3,100
ZHZOHA I P& (2D BIAIE EHI & Al =& 100,000 100,000 0
(@ eAle)
= 50,000
Al 50,000
401 AIEHIX R0 100,000 100,000 0
=S 50,000
Al 50,000
01 AlZ28| 99,000 99,000 0
OZZHHE L SHHEXIE FH L A(H
EhALY) 99,000
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A SAIT A
I K=}

g Al A

SA - ZE . BR() - HRAR - BES of v G o HIDE2
AL TH24 10 23,424,120 22,394,815 1,029,305
= 1,000,000
[ 6,851,000
= 3,091,000
Al 12,482,120
KEobse TADIEE 24 20,540,480 19,923,875 616,605
= 1,000,000
[ 5,215,000
= 2,875,000
Al 11,450,480
CATHEALS 20,397,480 19,733,075 664,405
= 1,000,000
= 5,215,000
S 2,875,000
Al 11,307,480
SAIMAXZHEH =2 142,500 142,500 0
101 21AH| 120,000 120,000
04 JIZtN22 XS E 120,000 120,000
CAHEREHE 128l S 120,000
201 =3 22,500 22,500
01 At22telt] 4,500 4,500
OSAMA(HF)XAHEH 298 S 4,500
02 S3=24Hl 18,000 18,000 0
OSAMY(BE)NME 3323 S 18,000
CAMEFEAEUS 68,700 68,700 0
=S 10,000
Al 58,700
201 fer=3| 54,000 54,000 0
== 10,000
Al 44,000
01 AtR2t2lt] 54,000 54,000 0
OFANY7E32Us S d2 =8 20,000
OZAINY OFHHIOlI & KI2dEH 28 S 34,000
= 10,000
Al 24,000
202 O4H| 13,700 13,700
01 2L A 13,700 13,700
OZANNd=ES2UE S 82 = 13,700
203 =] 1,000 1,000
03 A=A 2= 1,000 1,000
OZAITHEAI DR =X 1,000
CAHEAIE 2 43,580 33,800 9,780




2A:

X XH -
o=

CHelr SAITHA AL EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 2,700 2,700
01 At2teltl 2,700 2,700
OFANEAS 28 S 2,700
202 0o4dl 2,000 2,000
01 =LHNHI 2,000 2,000
O=UZ=E0H] 2,000
307 21201 & 38,880 29,100 9,780
02 QB HANSEER 38,880 29,100 9,780
ORHSHel &EXI=K| 29,280
OEe =2 E=M 9,600
oHals SAIHM=E AL 5,700,000 4,215,000 1,485,000
= 2,730,000
[ 454,000
Al 2,516,000
201 el 30,000 110,000 280,000
s 18,000
== 3,000
Al 9,000
01 At22t2l] 30,000 30,000 0
OZATHEAEXHEH & AHEA 2 30,000
= 18,000
= 3,000
Al 9,000
202 04| 6,000 3,000 3,000
01 =LHOLI 6,000 3,000 3,000
OSAITHMEAIY =&l 6.000
207 ARl 180,000 400,000 220,000
= 108,000
== 18,000
Al 54,000
01 H7ESHI 180,000 350,000 A170,000
OFAgZaAMNE S 180,000
= 108,000
=S 18,000
Al 54,000
301 2eEN= 2,000 2,000
11 AALEEIXIE S 2,000 2,000
OZAIHY HofHdA 2 MY S 2,000
307 elzto| & 50,000 100,000 250,000
= 30,000
[ 5,000
Al 15,000




2A:

X XH -
o=

Chl: S AITHASAL EER=E)
SA - ZE - BR(0) - HRAE - B of v G o HIDE2
02 2IHBHAIHE £ 50,000 100,000 50,000
OFBB2MNE S 50,000
= 30,000
< 5,000
Al 15,000
401 Al HIZL 2048 5,432,000 3,500,000 1,932,000
= 2,574,000
< 428,000
Al 2,430,000
01 Al&HI 5,427,000 3,495,000 1,932,000
Odllels SAIMM=E A 5,427,000
= 2,574,000
=S 428,000
Al 2,425,000
03 Al 20HHI 5,000 5,000 0
Odllels SAIMM=E A 5,000
A2ES SAMY=REA 4,793,700 3,426,000 1,367,700
= 2,000,000
Al 2,793,700
201 fer23| 14,800 50,000 A35,200
01 AtR2t2|HI 10,000 50,000 240,000
OFANY SEAHH 24 10,000
02 s3=gHl 4,800 0 4,800
OAES TAIMUAY ESAIE &I, =&
2= S 4,800
202 04l 5,000 5,000
01 SLHoIH 5,000 5,000
OAES TAIMAAY 28|12 28 S 5,000
207 ARl 200,000 120,000 80,000
= 120,000
Al 80,000
01 S| 200,000 120,000 80,000
O=xoHgdst s S 200,000
== 120,000
Al 80,000
401 Al HIZL 201 4,293,900 2,8%,000 1,397,900
= 1,712,000
Al 2,581,900
01 Al&HI 4,288,900 2,886,000 1,402,900
OA2ES TAMM=EA 4,288,900
= 1,712,000
Al 2,576,900
03 AIESTHYI 5,000 10,000 25,000




2A:

I T2Ikss TADIE X
el SAITHAANS (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAES TAMM=EA 5,000
402 2I2F X201 & 280,000 190,000 90,000
= 168,000
Al 112,000
03 2IZ+LAETAIZHI 280,000 100,000 180,000
O&=cl 2ULIAEAE 160,000
== 96,000
Al 64,000
Odg=Eac| AU2ASFAIY 120,000
S 72,000
Al 48,000
NSHEE 2SEHS2H =4 & 2 3,000,000 0 3,000,000
= 1,000,000
Al 2,000,000
307 @201 & 1,000,000 0 1,000,000
= 1,000,000
05 2IHRIE S 1,000,000 0 1,000,000
OASEESZ 2 UGS 1,000,000
= 1,000,000
401 Al HIZL 201 2,000,000 2,000,000
01 Al&H| 2,000,000 2,000,000
O4SgsE32t 44| 2,000,000
JYES TAINY 1A 6,649,000 1,858,000 4,791,000
= 2,485,000
< 411,000
Al 3,753,000
201 er23 | 5,000 5,000
01 At2teltl 5,000 5,000
OZAITHEAHE A 2HHI(HLE &I, Xt
=8l S 5,000
207 ARl 10,000 36,000 225,000
[ 10,000
01 H1E4H] 10,000 36,000 225,000
Olt=ssH 854 € JIT§ g+ 10,000
= 10,000
307 glztol & 50,000 0 50,000
s 30,000
Al 20,000
02 2B YA E X 50,000 0 50,000
OFoS2A 50,000
= 30,000
Al 20,000
401 AlZHIZ SO 6,584,000 1,818,000 4,766,000




2A:

X XH -
o=

Sl SAITHAAL (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 2,445,000
=S 411,000
Al 3,728,000
01 Al 6,579,000 1,817,000 4,762,000
OZYs TAITHY IFHALY 5,079,000
[ 2,445,000
= 411,000
Al 2,223,000
OZYs TAIHY AFAE (FILRMIHE) 1,500,000
03 AlE220HHI 5,000 1,000 4,000
OZLS TAIMY A A 5,000
CAITHEZ A 143,000 190,800 247,800
CAITHEAIZ 2t 143,000 190,800 247,800
201 Ler23| 63,200 41,000 22,200
01 At2teltl 9,000 9,000 0
OZAIMMAIZ2E AR5 Y S 9,000
02 S3=gHl 54,200 32,000 22,200
OZAITHEAIE &I, S8, =523 S 35,000
OAl2IZeal2t 3528 & ¢e8es S 19,200
202 04l 4,800 4,800
01 2LHoIH 4,800 4,800
OZANY 2elge =& 4,800
401 AlZHIZ S 0HbI 75,000 145,000 A70,000
01 AlZH| 75,000 145,000 70,000
OFANEAIZ=E 212 FH 45,000
O AT S=X1S A 30,000
FE 2AE & 2F 2,863,500 2,436,000 427,500
= 1,636,000
[ 216,000
Al 1,011,500
=S 2,863,500 2,436,000 427,500
s 1,636,000
s 216,000
Al 1,011,500
DAUHESEFAHI SSSAE 300,000 300,000
401 AIEHIZ SR 0HYI 300,000 300,000
01 Al&HI 300,000 300,000
OXNUEg=HA e & EX 24, &
3t AIE S A 300,000
SAIFAEZNE AL 151,000 83,000 68,000
= 5,000
Al 146,000




2A:
PSR
ool

AT AT}
zel s 3 2Y

Zehz

SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 26,000 23,000 3,000
01 At2teltl 5,000 5,000 0
OFAH&FNEXT 28 85 72 & a7

2 =d 5,000

02 S3=gHl 21,000 18,000 3,000

OFNEFMEX T AIEE &I 2=

S 21,000

401 AlEHIZL SO 125,000 60,000 65,000
< 5,000
Al 120,000

01 Al&H| 125,000 60,000 65,000
O=FHSFNEX 7 o=, 88 S 60,000
OFHEZNEXT U A2 RAES 30,000
OO0IEXI+ D24 EX € XNEE = 30,000
OnlgZd SFMEA 5,000
[ 5,000

TS FAXNS 202 HZA 1,301,700 1,310,100 A8,400
[ 911,000
= 117,700
Al 273,000

201 fer23y| 3,000 3,000 0
= 900
Al 2,100

01 AFS2t2ltl 3,000 3,000 0
OSZ220UI0IH gs+€ S 3,000
== 900
Al 2,100

202 04l 2,000 2,000 0
= 600
Al 1,400

01 =LHAHI 2,000 2,000 0
O7gES MSOEAME =8 2,000
= 600
Al 1,400

401 Al HIZ R 0HHI 1,296,700 1,032,100 264,600
[ 911,000
= 116,200
Al 269,500

01 A28l 1,295,700 1,010,100 285,600
OZ2¢ cIZEd X JIEAESA =& S 1,295,700
[ 911,000
= 115,900
Al 268,800




2A:

S AIRH A4 D

Bz 21d o 2o
cHels FEONE (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 A& S CHYI 1,000 2,000 21,000
O7YES MSOEAME SAEE S 1,000
= 300
Al 700
SIS FAANS HEUA A 821,500 742,900 78,600
[ 575,000
= 74,000
Al 172,500
202 04l 1,000 2,000 A1,000
= 300
Al 700
01 2L AH| 1,000 2,000 21,000
Odsts MSOESAME =& 1,000
s 300
Al 700
401 Al HIZL S 0HYI 820,500 659,900 160,600
s 575,000
s 73,700
Al 171,800
01 AlZ8| 820,000 659,400 160,600
Ot =5 & JIEAESA =8 S 820,000
[ 575,000
= 73,550
Al 171,450
03 Al 20HHI 500 500 0
Odsts MES0ISAE SME= S 500
< 150
Al 350
HSS FHAXNS A WA 289,300 0 289,300
= 150,000
[ 19,300
Al 120,000
201 2egh=3| 10,000 0 10,000
= 3,000
Al 7,000
01 At2teltl 10,000 0 10,000
OSZ3ILUI0IE g8+ & A 28 S 10,000
= 3,000
Al 7,000
202 04| 2,000 0 2,000
== 600
Al 1,400
01 =LHOLI 2,000 0 2,000
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H & 0l & AHS B Ml A

O HSAS
S
D HsE43 A (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
st 27,135,881 26,423,085 712,7%
Jl 1,033,560
== 3,647,324
Al 22,454,997
=S 21,720,052 21,235,788 484,264
Il 1,033,560
< 3,647,324
Al 17,039, 168
I=sgdst =a 10,164,052 10,947,788 AT83,736
Il 1,033,560
== 1,036,324
Al 8,094,168
do|E M= ¥ 4= 245 N3 86,000 73,100 12,900
201 2= 55,000 42,100 12,900
01 AtR2t2lt] 55,000 42,100 12,900
OM=lz = 222 M 17,000
OLZ=0PIE HRFXN 14,500
O%& Msla s 228 7¢ 14,000
OF2ZE 3018 78 S 1,500
OMRES 7Y S 8,000
202 04l 16,000 16,000
01 SLHoIH 16,000 16,000
OM=Uzl 2t S50 16,000
203 HR=AH] 6,000 6,000
03 A= PR F&IH| 6,000 6,000
OMEUz2l 2t gAY 6,000
301 Eet2 NS 9,000 9,000
11 #AIAHIXIE S 9,000 9,000
OF=HE S ASHIU 24 9,000
ANt S =0 EW 2 880,000 880,000 0
= 100,000
Al 780,000
201 er23 | 280,000 280,000
01 At2teltl 280,000 280,000
OZ e MES=HN0KIEW= SH= 280,000
307 gl2to| & 600,000 600,000 0
=S 100,000
Al 500,000
02 QB AANEE R 600,000 600,000 0
OZ A MEtS =0 tEW =] 600,000
< 100,000
Al 500,000




2A: MSHED
M MsEES
el Ms28dst =2 (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
AU dISHME0S 900,000 900,000 0
& 150,000
Al 750,000
307 212+01™ 900,000 900,000 0
& 150,000
Al 750,000
02 QIZHEAAHE X 900,000 900,000 0
O34t MISME2US(Z=S 1) 900,000
& 150,000
Al 750,000
DAL B A ZeletelntetE S 220,000 220,000 0
= 120,000
Al 100,000
307 212+01 A 220,000 220,000 0
& 120,000
Al 100,000
02 QIZtAAAIEE R 220,000 220,000 0
OZAMErS d=0letolltetE =] 220,000
= 120,000
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